lS‘?

m3¢ 8 Nv'l§

r‘l.
F [g’} Sw‘)L t (q-x ("]T C: ;("1-7":@
5 D: Xzf‘)‘ﬁ‘l }
[ Ede=?
9& -
2 Fact g
F oo confimums, cude gﬁ/}% (K ')
=7
Greews Thim - F"b’ Y’E;E"‘QLJA &>2 1 x
reen ) fc SD * > %(3,4 )
P _
Gwess =3
- Sf 13 4A

)

= ¢ IgJA - ¢4 (i) =—@

——

FghiEsprmort

Penld) = (140 £ [RBd2 Fd B tht ks,

: i
2 =2 |
G ([ 5% 55 da= (B &2 Fe<hwy
n L— J 90
1
..2—9\_9 azx —
oL F=<0,x5
,a—t: 0 P=0

[ xdy

N

Aven (D) = f Copoldn,dyy =




/3 Jl/ ﬁ;ﬂb\)
! ] W waX"L;l
——
Pudhs verdom
A ] ® . & =0 .
-0 8: Py,
O‘("l\ 0“’ :*i P: "\,1
W pe-Tudy =
A—: ‘V} X = Y)(al A hear MnLD:
M ) A
M _pp R=%x, P>by  F=<bb0  drsddy
ox 37 r
'7_. —- 6 A SSG\}J"CV}XJ‘QZ" G(‘WAX‘]'}XXJNI
) .
_E_Z‘C__. A ﬁA":!,;a'L Huq,,’; FyhulAI

5’-‘1’9[.[4\%%"—)

S frsvesil  pe (e

" | -
siB= T D Li=csnb
LT
anoelaq, FNmulw ‘ 1‘ \ "
—_— = Il )
Bo&sl




?A-B: (l"f)x" ‘('-BA = (I“[’)(Ylmb + ¢ (x1'717 'l:"ogl

= {reklxpy) by W )t

Alt)= K Xt dy = Cgyop) 4t
|

Py § (n o)) (gg0 Ut

AB )

= { xps) ¢ Gaxxyowt It

N

= Xl &+ § (ex)an) £ )

= X (‘)3:‘71) + i K2 (‘};‘ﬂ;) = al_x‘(‘h"m

- ';.(Y»*'qu‘h“"') = i (’"‘h"x"’l t X3, -X:.'_}.)

\ / « ‘,
>1 (<t
= \

v e T | p o A=smi
b
H"'S X“‘NIL_ Pamwjﬁy,: X = acost st
& Wi = b st SvsAT
w
R'Sac-stokasf at &3,.-, b cabdt
2
_ A L A} - -
'“LS\ W{T’“f = “_L{,lfws(l-f)clf =_é(‘t+4,—?;}(l/ﬂ\\
' > > VT e
S AT by AN A Tab




wl—x. F—:: <x;-z?l '?‘EF, Cawp..l(, S‘Fb" (Mul 4"'4
dﬂsuloum C Het wolwf‘h«.

‘} M?»lh
/4\'\\///_\ 9% {\‘(“"'H El)_@a)lzﬂ)
Y://////// C,/ /// ) ¢ 73'[ = ’Q“L‘t"iz)z
gl e - B
N—""" ! l[{/ X 'f'?'} O),‘)
—

Take ¢ K b 6 ovk of small adis Ha il i uw‘\"#' A gt

C: endoged L; C.

Tun D b bt buded g Lotwesn C ad ¢

D= CVc'
Sy N
VPP = [Rdp - [E = 2

o—

b C
(ﬂ“"{} Thiw  does “fl’"? we o N Sy we of  oubthe oy
- _ 90~ (1] - x (ax) 1%
o (Wv‘) ox (ry']> (e
YEA%K%%?- = 5§ odt=0
LY 1% ) . olﬂl 2 ) unth cuele
— —£,




xzw":. Cotrsmit= L

Fedobod) ot o) it

3 Qs o
6 [ Fd =[Pt [ trart Lo [ 146 < ox
[ ¢! 0 ]

So, 2;:&7‘- > AW %N‘ qu C %Jﬂsl‘n} ‘hu— Mt,ym

/

\

—




